Unit3
5.NBT.5  5.NBT.7
Family Reunion

Family Reunion

A.  Hector’s family was gathering supplies and money for a family reunion.

1. There were 8 sets of aunts and uncles.  There were twice as many cousins as uncles.  There were two grandparents, and then there was Hector’s family of five.

How many people were at the reunion?  Show your work or explain your answer.

2. Thirty-seven of Hector’s relatives wanted to split the cost of the present for the grandparents.  If the gift costs $464.72, how much should each person contribute?  

Show your work or explain your answer.

BE SURE TO LABEL YOUR RESPONSES 1 AND 2


Rubric for Open Response 

	Description
	Points
	Correct Answer
	Student Score

	1. Answer
	1
	39 people
	

	1.  Explanation
	1


	Answers may vary

Aunts and Uncles = 8 x 2 = 16

Cousins                 = 8 (uncles) x 2 = 16

Grandparents        = 2

Hector’s Family   = 5

________________________________

              Total       = 39 people


	

	2. Answer
	1
	$12.56
	

	2. Explanation
	1


	Answers may vary 

          $12.56

 37     464.72

         -37

            94

          - 74

             207

          - 185
                222

               -222


	


	Off Task
	Below Basic
	Basic
	Proficient
	Advanced

	0
	1
	2
	3
	4
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